
~ ('SIT-{""o 1 am 2) : ~ ~ lll!;~ w.f
f.i'"'1R=tf@d~ l:R 3lTmfto ~ :

(1) A~,~-~O?fT~~~1

(2) B 3fR c ~ -~ 0?fTTffURr ~ ~ I

(3) D 3fR A ~-~0?fT ~-~ ~

~I

1. ~-m fuwff ~ ~ ~~?

(A) D

(B) A

(C) C

(0) B

2. ~fuwff~-~~~?

(A) 1

(8) 2

(C) 3

(0) 0

~ ('SIT-{""o 3 "« 5) :. f.i'"'1R-tf&d ~3TI q;) ~

~lll!;~t~~:

(1) ~: ~ A, B, C, D, E 0?fT F ~ ~

~1l~~~1

(2) E, D t GWff(Rtfi ~ I

(3) C, ACf Bt~~1

(4) F, E Cf A t lfUr· ~I

SECTION-A / cqm-A

GENERAL KNOWLEDGE AND LOGICAL KNOWLEDGE

fi141;:;q ~ ~ dlFctCh ~
Dire~tion (Q. Nos. 1 and 2) : Each question
given below is based on the following data :

j

(1) A studies Physics, Chemistry and
English.

(2) Band C study Chemistry and
Mathematics.

(3) D and A study Biology and Home
Science.

1. Which student studies the maximum
number of subjects?

(A) D

(8) A

(C) C
(0) B

2. How many students are studying
Chemistry?

(A) 1

(8) 2

(C) 3

(0) 0

Direction (Q. Nos. 3 to 5) : Read the
following informations and answer the
questions:

(1) Six friends A, B, C, D, E and Fare
sitting in a closed circle facing the
centre.

(2) E is to the left of D.

(3) C is between A and B.

(4) F is between E and A.

3. Who is to the left of C?

(A) A

(8) E

(C) D

(0) B

13-PARSK/2-A

3. ct·GWff 3ltt ~ ~ ~?

(A) A

(B) E

(C) D

(0) B
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/ --~-.-.-~~~~-----

4. E is sitting between 4. E~llUJ~~?

(A) D and F (A) D~F

(B) F and C (B) F~C

(C) Cand D (C) C~D

(0) A and B (0) A~B

5. Who is sitting right to A? 5. A *zyff 3W ~ ~ ~?

(A) D
(A) D ~

(B) F I
(B) F I(C) E
(C) E

~
(0) C

(0) C i
I'

6. ~m~~~~~~~~~~
If

6. In this question, two statements are
~ ~ I 3lltfCfiT ~ ~~ CfiT ~ ~ ~, ~

followed by two conclusions. You have ~ 3lltfCfiT 3lWrn ~ wm m, 31CH ~ -:q7.R

to consider the two given statements as <fiG ~I

true even if they seem to be absurd and
select your answer. ~:

Statements :
I. All managers are clerks.

I. ~~,~~I

II. Some clerks are peon. II. ~~,~~I

Conclusions : ~:
(1) No manager is peon.

(2) Some peons are managers.
(1) ~~~~;fflf~1

(A) Only conclusion (1) follows
(2) ~~,~~I

(B) Only conclusion (2) follows (A) ~~(lp:r~~

(C) Neither conclusion (1) nor conclu- (B) ~~(2)~~
sion (2) follows

(C) ";foT~ (1) 3fR";fm~ (2)~~
(0) Both of the conclusions (1) and (2)

follow (0) ~ (1) 3fu: ~ (2) c:r.n ~ ~

13-PARSK/2-A 4
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7. Seen through a mirror; the arms of a
clock show 2:30. The actual time is

(A) 6:30

(B) 3:30

(C) 9:30

(0) 6:10

8. Statements :

I. The prices of vegetables have fallen
during the last few days.

II. There has been considerable
improvement in quality of
vegetables produced.

Choose the correct answer.

(A) Statement I is the cause and
statement II is the effect

(B) Statement II is the cause and
statement I is the effect

(C) Both the statements I and II are
independent causes

(D) Both the statements I and II are
effects of independent causes

9. Which of the following represents
'stone, plant and fire?

(A) 0 0o

(B) @O
(C) (@)

(0) ClXI)
13-PARSK/2-A

7. v;cfi. GtfuT.q ~ "q\ ~ <fit mm 2:30 ~

~, m <4lfdR.Cfi ~ t

(A) 6:30

(B) 3:30

(C) 9:30

(D) 6:10

8. ~:

I. NrRr ~ ~ .q ~ ~ ~ .q fi1ucrG
3WfTil

II. ~ ~ <fit ~ .q CfiT11iT\!tfR

~3lTt I

~ "3W"rnwt!

(A) ~ I CJiRUT i am: ~ II ~ i

(B) Cfi?f.l II CJiRUT t am: ~ I ~ t

(C) ~ I am: ~ II Gf.:if ~ CJiRUT ~

(0) ~ I 3fR Cfi~ II Gf.:if ~ ~ ~

~~

9. f.iJOO1~f@(j.q ~ ChT-r-~ .~, lflGtf ~ 3l(JJ'

q;) ~ tti«IT t?

(A) 0 0o

(B) @O
(C) (@)

(0) ClXI)
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Direction (Q. Nos. 10 to 12) : Study the
diagram carefully and answer the questions :

b.. ~ Youths in
a village

o ~ Unemployed

o ~ Educated

10. Which of the following numbers
represents unemployed educated
youths in the village?

(A) 4

(8) 5

(C) 6

(0) 7

11. Uneducated unemployed youths in the
village are represented by

(A) 4

(8) 1

(C) 7

(0) 2

12. Which of the following numbers
represents the educated employed
youths in the village?

(Al 3

(B) 4

(C) 1

(0) 7

13-PARSK/2-A

~(~lfO 10"« 12) :~q;)t4I'i'tf<:h~~

m~~~:

10. f.!JOO1R1f{g(l 'ij ~ etA -m 3iCfi 1fi'q -q ~
~U'iilIIR ~alt q;) ~ <fi«fTt?

(A) 4

(B) 5

(C) 6

(0) 7

11. 1fi'q -q ~ ~(J'iilIII( ~alt q;) ~ CfffiT
3iCfit

(A) 4

(B) 1

(C) 7

(0) 2

f.!R~f{gd 'ij ~ etA-m 3iCfi
.•. -q ~12. TfTCf

f.l1l1~(l ~alt ctiT ~ t?

(Al 3

(B) 4

(C) 1

(0) 7
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13. Centigrade and Fahrenheit scales give
same reading at

(A) 0°

(B) - 48°

(0) None of the above

14. Kathakali dance belongs to which one of
the following States?

(A) Maharashtra

(B) Kerala

(C) Tamil Nadu

(0) Gujarat

15. The highest mountain peak of India is

(A) Mount Everest

(B) K-2

(C) Kanchenjunga

10) None of the above

13-PARSK/2-A

13. ~ v:ci If)1{'1t!I~l ~ -ij ~ ..•·t~l"tJR
~~

(A) 0° lR

(B) - 48° lR

I
I
I

14. ~ ~ f.l1OO1~l@d -ij ~ ,~ ~ ~

~~?

(A) ~

(B) ~

(0) ~

(A) ~~

(B) ~o-2

7 [P.T.D.
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16. Which of the following States is in the
south of Madhya Pradesh?

(A) Rajasthan

(B) Gujarat

(C) Chhattisgarh

(0) Maharashtra

17. Which of the following rivers originates
from Madhya Pradesh and flows
through Madhya Pradesh, Maharashtra
and Gujarat?

(A) Narmada

(B) Chambal

(C) Betwa

(0) Ken

18. State animal of Madhya Pradesh is

(A) Cow

(B) Swamp deer

(C) Tiger

(0) Lion

19. The zonal office of West Central Railway
is situated at

(A) Indore

(B) Bhopal

(C) Jabalpur

(0) Gwalior

13-PARSK/2-A

16. ~ ~ t Gf&lur -ij R""IRif@d -ij ~ ~-m
·~t?

(A) ~

(B) ~

(O)~

17. ~ ~ ~ ~ GfR'ft R""IRif@d -ij ~
~-m;p.ft t ~ lfUJ~, ~ q ~ ~
~~t?

(A) ~

(B) ~

(C) ~

(0) ~

(A) lfp;r

(C) ~

(0) m

(A) ~-ij

(B) ~-ij

(C) ~-ij

(0) ~-ij
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20. In Madhya Pradesh, the Fossil National
Park is situated in which of the
following districts?

(A) Dindori

(B) Ratlam

(C) Ujjain

(0) Bhopal

21. The number of Parliamentary Constitu-
encies in Madhya Pradesh is

(A) 27

(B) 28

(C) 29

(0) 30

22. Who among the following kings built the
Sanchi Stupa?

(A) Raja Bhoj

(B) Ashoka the Great

(C) Chandragupta Maurya

(0) None of them

13-PARSK/2-A

20. ~ ~ it ~ ~ tflCi; f.\Rfcl~d it \l
~ -:~it~i~?

(A) ~

(B) ~

(C) ~

(0) ~

(A) 27

(B) 28

(C) 29

(0) 30

(A) ~~

(B) ~l{6R

(C) ~lft4
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23. How many sites in Madhya Pradesh
are declared 'World Heritage Site' by
UNESCO?

(A) 3

(B) 4

(C) 5

(D) None of the above

24. Which of the following dams is
constructed on Son river?

(A) Mahi

(B) Pratap Sagar

(C) Kolar

(D) Ben Sagar

25. Who was the Chief Minister of Madhya
Pradesh at the time of Bhopal Gas
Tragedy?

(A) Digvijay Singh

(B) Uma Bharti

(C) Arjun Singh

(D) Shiv Raj Singh

13-PARSK/2-A

23. ~ ~ -q ~ WU ~ ~ <fit 'fcw.f
~~'~~-q~~~?

(A) 3

(B) 4

(C) 5

24. ~ ~ 1:1\ f.iyR1f@~ -q "B ~-m ~ ~
~t?

(A) ~

(B) "!f(f(t{ mrR

(C) ~

(D) ~ mrR

25. ~ 1tB $;@R1CflI ~ ~ ~ ~ ~
~&llHfl~~?

(B) 3tfT,:rmft

(C) ~iW

(D) ~iW
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26. Who raised the stopn; ''Freedom is my
birthright and I shall have it"?

(A) Bal Gangadhar 1'i1ak

(B) Mahatma Gandhi

(C) Lata Lajpat Rai

(0) Subhas Chandra Bose

27. "Life is full 1'0£' sUfferings and
unhappiness." Who said this?

(A) Bhagawan Buddha

(B) Bhagawan Mahavira

(C) Ashoka the Great

(0) Mahatma Gandhi

28. The first woman Chief Minister of a
State in India was

(A) Mayavati

(B) Sucheta Kripalani

(C) Jayalalitha

'(0) None of them

29. When was Swami Vivekananda born?

'(A) 12 January, 1864

(B) 12 January, 1893

(C) 12 January, 1873

(0) 12 January, 1868

13-PARSK/2-A

I
26. "~.~ ajO¥1f{.t", ~,t ~ ~~' 'Sl'm

~I"~-;nu~~?

(B) l@'('1TI 11ltfr

(A) ~~q;r

(B) ~ lftncfu q;r

(0) ~ 71'ilft q;r

(A) 'i1(1 lenfl

(B) ~~

(A) 12~, 1864

(B) 12~, 1893

(C) 12~, 1873

(0) 12~, 1863
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30. In India, where was the first Metro J~ail
started?

(A) Kolkata

(B) Mumbai

(C) New Delhi

(D) None of the above

31. Who was known as the 'Tiger of
Mysore'?

(A) Haider Ali

(B) Akbar

(C) Tipu Sultan

(D) None of them

32. Who was the founder of Arya Samaj?

(A) Vivekananda

(B) Swami Dayananda Saraswati

(C) Lala Lajpat Rai

(D) Bepin Chandra Pal

13-PARSK/2-A

(A) c6)ctCflldl

(B) ~

(A) ~ 3R'ft

(B) ~

(C) ~~

(A) ~~CfI"1'<

(B) ~~~
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33. If P x Q means P is.l;>rother of Q, P, + Q
means P is son of Q and P - Q means P
is sister of Q, then which of the following
relations will show that Q is maternal
uncle of P?

(A) Px R+Q

(B) P+ R-Q

(C) R-P+Q

(O) QxR+P

34. Pointing to a woman a man says, "Her
mother's mother is the mother of my
father". How is the man related to that
woman?

(A) Nephew

(B) Son

(C) Maternal cousin

(0) Uncle

3S. Which of the following diagrams depicts
the relationship among cats, pet
animals and dogs?

«\?<\\
(A) \.Y....Y.J

(B) @ 0

(C) (@)
(0) 0 0o

13-PARSK/2-A

33. ~ PxQ <JiT ~ t.~ P, Q CfiJ ~t.,
P+ Q <JiT ~ ~ ~ P, Q <JiT ~ ~ mn
P - Q CfiT ~ ~ ~ P, Q;;f;l ~ to m

. AJOO1fftf&a -ij ~ CI1T-f-~~ ~ O!ffii Cfi«IT ~

~ Q, P CfiT 111m ~?

(A) PxR+Q

(B) P+R-Q

(C) R-P+Q

(0) QxR+P

34. v,q; ~ q,l ~ Cfi@ ~ v,q; ~ ~ ~ ~
"~ lfRIT ;;f;l lfRIT -ijt firnT ;;f;l lfRIT ~", m
~~CfiT~~~~

(A) ~CfiT

(B) ~ <JiT

(0) T;fRU CfiT

3S. f.)JOO1~Riaa -ij ~ CI1T-f-~ ~ .•~, lITffil
~ q ~ ~ ~ ~ q,l crefoT~?

(A) ill)
(B) @ 0

(C) (@)
(0) 0 0o
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36. Study the given statement and select
the alternative which best represents
the statement ;

"Ravi is illiterate, therefore he
cannot write."

Thus we can say that

(A) only some of the literate persons
can write

(B) all illiterate persons cannot write

(C) some literate persons also cannot
write

(0) None of the above

Direction (Q. NOB. 37 and 38) : In each
question given below, a statement is followed
by two arguments numbered I and II. You
have to decide which of the arguments is a
'strong' argument and which is a 'weak'
argument and then select the correct
alternative.

37. Statement;
Should political parties be banned?

Arguments;

I. Yes, it is necessary to teach a
lesson to the politicians.

II. No, it will lead to an end of the
democracy.

(A) Only argument I is. strong

(B) Only argument II is strong

(C) Either argument I or argument II is
strong

(0) Neither argument I nor argument II
is strong

13-PARSK/2-A

36. ~ ~ ~ ~ CfiT ~ ~ am ~
~CfiT~~~~q;)~~-ij-

vMffit Cfi«IT ~ :

"~~~, 3l(f:~~~~I"

(A) ~m~~~~~~

(B) ~~~~i¥s~~

(C) ~m~~1fi~~~··~

~ ('SWof~o 37 am 38) : ~ ~ 'lfQ; ~ it 1%
~~tp:IT~~~Gl(fcf; I~lII~~~1

~~~~~ctt.f-m(fcf; '~' t~~-m

(fcf; '~' ~ 3fR ~ lI1t ~ CfiT~ ~ I

37. ~:

~ (1'ii1<ftR\Q; ~ tR ~ wrr ~
~?

(fcf;:

(A) ~ (fcf; I ~ t

(B) ~ (fcf; II ~ t

(C) (fcf; I ~ (fcf; II ~ ~

(O) ~ m (fcf; I 3fR ~ tt (fcf; II ~ t
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38. Statement :
Should India have no military force
at all?

Arguments:

I. No, other countries in the world
do not believe in non-violence.

II. Yes, many Indians believe in
non-violence.

(A) Only argument I is strong

(B) Only argument II is strong

(C) Either argument I or argument II is
strong

(0) Neither argument I nor argument II
is strong

39. Replace the question mark (?) with
correct word :

Farmer : Plough :: Author : ?

(A) Writing

(B) Brush

(C) Book

(0) Pen

40. Statements :

I. Water boils at 100 °C.

II. Water freezes into ice at 0 °C.

Conclusion :
Water boils at low pressure and low
temperature.

The conclusion drawn is

(A) true

(B) false

(C) either true or false

(O) irrelevant

13-PARSK/2-A 15

38.,,~:

cp;rr ~ CfiT ~ ~ ~ ~ wr.rr
~?

ocf;:

I. ~,~ ~ ~ ~ 31fun 11 ~
~~~I

II. m, ~-~ ~ 31fun 11 ~ ~
~I

(A) ~ocf; I ~~

(B) ~ocf; II ~~

(C) ocf; I ~ ocf; II ~ ~

(0) ~ oTocf; I 3fR ~ ~ ocf; II ~ ~

39. SI~"tcIlT.lCfim (7) CfiT ~ ~ ~ ~ :

fctim;:r : re ::~ : ?
(A) fffig.n

(B) im
(C) ~

(0) ~

40.~:

I. 1:!r-ft 100 0C "!R"3GfffifT ~ I

II. 1:!r-ft 0 °C"!RGft GH~ ~ I

f.r6q;If :

1:!r-ft CfitJ GTif WU CfitJ 'ij'['q "!R"3GfffifT ~ I

(A) ~~

(B) ~~

(C) <rroT~~ ~~t
(0) 31Wmt
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$EcTiON-B r;~-2Bf·
MENTAL ABILITY AND MENTAL APTITUDE

~f4Cf) ~ ~ "iHmCf) ~

41. One morning Ram and Shyam were
talking to each other face to face at a
crossing. If Shyam's shadow was
exactly to the left of Ram, then which
direction was Ram facing?

(A) East

(B) West

(C) North

(0) South

42. Some boys are standing in a circle
facing to the centre. Bhim is to the
immediate left of Vijay. Rajesh is in
between Bhim and Mahesh. Jivan is in
between Vijay and Naren. Who is to the
left of Mahesh?

(A) Rajesh

(B) Naren

(C) Vijay

(O) Bhim

13.;..PARSK/2-A

41. ~ ~ U1=r 3fR ~ ~-~ CfiT mJHf ~

SU; ~ - lR GfRf Cfi{ W ~I WR ~ c€t
~ U1=r ~ ~ Gf«ff O\tfi ~, m U1=r CfiT· ~

~~-qm?

(A) ~

(B) ~

(C) ~

(0) ~

42. ~ ~ ~ 'fJ it ~ ~ ~I 'Ifrq,
~ ~ ~ Gf«ff 3ffi ~ I -oor, 'Ifrq ~ ~
~~it~I~, ~~*r~ ~-q~1
~ ~ Gf«ff 3ffi ~ ~?

(A) m

(B) *r

(C) ~

(O) 'Ifrq
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43. What will replace '?' in the followtng? 43. ~ 'ij '?' ~ ~ cp.n 3TIl1.'TI?

Moon: Satellite :: .Earth : ? ~.~ .. ~.?. .. . .

(A) Sun (A) ~

(B) Planet (B) ~

(C) Solar system ~~(liQ:S(1(C)

(0) Star
(0) am

44. What will replace '?' in the following?
44,.. f.%1:;{ 'ij '?' ~ .~ cp.n 3TIl1.'TI?

~ : -qr;fi :: ~ : ?Ocean : Water :: Glacier: ?

(A) Refrigerator

(B) Ice
(B) ~

(C) Mountain
(C) ~

(0) Cave

(0) TfiT

45. If A = x, E = -, 0 = + and U = +, then
taking the numerical value of the
remaining letters as per English
alphabet order, the correct option
for SETUH is

45. ~ A = x, E=-, 0= + ~ U= + m-"iID
~ 3l~ q;r. ~ qufql(1I~j{ e&lI("fCf)

1{R "AA 1:R SETUH <fiT ~ ~ t

(A) 5 (A) 5

(B) 6 (B) 6

(C) 7 (C) 7

(0) 8 (0) 8
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46. Find out the wrong term from~e
following:

5, 9, 17, 35, 65, 129
.5, 9, 17, 35, 65, 129

(A) 65
(A) 65

(B) 35
(B) 35

(C) 129 (C) 129

(D) 9 (D) 9

47. Find the missing number of the given 47. f.%T:;f. ~ ..cfiT ~ ~ mo ~ :
series: 19, 2, 38, 3, 114, 4, ..1...

19, 2, 38, 3, 114, 4, ..1...

(A) 228
(A) 228

(B) 256
(B) 256

(C) 352
(C) 352

(D) 456
(D) 456

48. Find the next number in the following:
48. f.n:;r.q~ mmo·~ :

1, 2, 9, 4, 25, 6, ..1... 1, 2, 9, 4, 25, 6, ..1...

(A) 51 (A) 51

(B) 49 (B) 49

(C) 50 (C) 50

(D) 47 (D) 47
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49. Find the missing number of'the-given
series:

1, 8, 9, 64, 25, 216, 49., l
1, 8, 9, 64, 25, 216, 49, .z,

(A) 64
(A) 64

(B) 729
(B) 729

(C) 512
(C) 512

(0) 81
(0) 81

50. What will come next in the given series? 50. ~ ~ 'ij 311Tffi llG ~ m?
21, 62, 23, eo, 25, 58, l 21, 62, 23, 60, 25, 58, l

(A) 29 (A) 29

(B) 56 (B) 56

(C) 27 (C) 27

(0) 60 (0) 60

51. Find out the wrong term from the ~'ij~~llG~~:
following:

51.

ABC, OGJ, HMR, NTA,SBK, ZKV
ABC, OGJ, HMR, NTA, SBK, ZKV

(A) OGJ (A) OGJ

(B) HMR (B) HMR

(C) NTA (C) NTA

(0) SBK (0) SBK
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52. Find the missing letters in the 52. f.\l:;f if ~ ~~ ~ ~ :
following:

BCFH, ----1-, HILN, KLOQ, NORT
BCFH, ----1-, HILN, KLOQ, NORT

(A) MNQS
(A) MNQS

(B) EFIK
(B) EFIK

(C) NOPQ
(C) NOPQ

(D) PQTV
(D) PQTV

53. Find the missing term in the following :
53. ~if~llG~~:

F3X, H7U, J15R, L310, ----1- F3X, H7U, J15R, L310, ----1-

(A) M46L (A) M46L

(B) N44L (B) N44L

(C) N63L (C) N63L

(D) N44M (D) N44M

54. Complete the given letter series :

J _ HL _ K _ IH _ LKJI _ LLK J _ HL _ K _ IH _ LKJI _ LLK

(A) HIWL (A) HIWL

(B) IWLH (B) IWLH

(C) WLHI (C) WLHI

(D) JLHIL (D) JLHIL
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55. In the following letter series, some of
the letters are missing which are given
in that order as one of the alternatives
below it. Choose the correct alternative:

a _ ca _ bcaab _ a ......;;..bcaabc_ ab

(A) bacaa

(B) aacba

(C) bcacc

(0) cabba

56. In a certain code language if MICHAEL
is coded as JGBHBGO, then in this
code, AMERICAwill be written as

(A) XKORJEO

(B) XKDRKEO

(C) XKORJEC

(0) XKERJEO

57. In a certain code language if CRICKET
is coded as 3923564, ROCKET is coded
as 913564 and KETTLE is coded as
564406, then how is LITTLE coded in
that language?

(A) 204406

(B) 024406

(C) 020446

(0) 200446

13-PARSK/2-A

\

55. f.I •.••R=tfuid 3la.;{ ~ -q ~ 3la.;{ tt!R ~ ~
~Sfil{-q ~~~M~~~~-q
W:n~tl~~~:

a _ ca _ bcaab _ a _bcaabc _ ab I
f,
$

(A) bacaa

(B) aacba

(C) bcacc

(0) cabba

56. ~ M~ ~~ -q MICHAEL <it
JGBHBGO ~ ~ t, -at ~ ~ ~ -q
AMERICA<it furun ~

(A) XKDRJEO

(B) XKORKEO

(C) XKORJEC

(0) XKERJEO

57. ~ fcrlm ~ ~ -q ~ CRICKET. <it
3923564, ROCKET Cfl1 913564 ~
KETTLE <it 564406 ~ 7jffifT t, -at
LITTLE<it ~ ~ ~ -q ~ ~~?

(A) 204406

(B) 024406

(C) 020446

(0) 200446
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58. If 74683 means GREAT, then 7684
means

(A) GEAR

(B) HEAR

(C) REAG

(O) GAER

59. How many squares are there in the
following figure?

(A) 13

(B) 14

(C) 16

(O) 15

13-PARSK/2-A

e-n
L~

58. ~ 74683 <fiT3l~ GREAT t 'ffi 7684 <fiT

~~

(A) GEAR

(B) HEAR

(C) REAG

(0) GAER

I n
L~

(A) 13

(B) 14

(C) 16

(0) 15
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60. How many triangles ~s the following
figure contain?

(A) 11

(B) 10

(C) 6

(0) 12

61. In a certain code language, '479' means
'fruit is sweet'; '248' means 'very sweet
voice' and '637' means 'eat fruit daily'.
Which digit stands for 'is' in that coded
language?

(A) 7

(B) 9

(C) 4

(0) Cannot be determined

62. Choose the set of numbers from the
four alternatives which is similar to the
given set:

(6, 13, 22)

(A) (6, 13, 27)

(B) (10, 16, 28)

(C) (11, 18, 27)

(0) (13, 19, 27 )

13-PARSK/2-A
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(A) 11

(B) 10

(C) 6

(0) 12

61. ~ fcrim ~ ~ if, '479' CfiT ~ 'fruit is
sweet'; '248' CfiT ~ 'very sweet voice'
(IWJ '637' CfiT ~ 'eat fruit daily't oT ~
~ ~ if ~ aiCf; CfiT ~ 'is'~?

(A) 7

(B) 9

(C) 4

62. ;:m: ~ if ~ ~ ~ ~ ~ <fIl ..~ ~
fcf;~~~~~~ (~)t:

I
I

I
I
I
.f

(6, 13, 22 )

(A) (6, 13, 27)

(B) (10, 16, 28 )

(C) (11, 18, 27)

(0) (13, 19, 27)
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63. Choose a word from the given
alternatives that belongs to the
following group of three related words :

Jute, Cotton, Wool

(A) Terylene

(S) Silk

(C) Rayon

(0) Nylon

64. Choose a number from the given
alternatives that belongs to the
following group of three related
numbers:

25, 37, 49

(A) 61

(B) 56

(C) 60

(0) 66

13-PARSK/2-A

63. ~ ~ ~ -ij ~ 1% ~ ~.\iIl fcf; <:fH
~ ~ ~ f.t1OO1f<itR51d ~ -ij 3lffiT t:

(A) ~

(S) ~

(C) ~

(0) ~

64. ~ ~ ~ -ij ~ ~ m ~ \ill fcf; <:fH
~ ~ ~ f.ti41f<itR51d ~ -ij ~ t:

25, 37, 49

(AI 61

(S) 56

(C) 60

(0) 66
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65. 12% of 25 ~tudent~ are good in
Mathematics. How many}are not good
in it?

(A) 18

(B) 47

(C) 22

(0) 24

66. The two consecutive integers, between

which ,~ lies, are
7

(A) 5 and 6

(B) 0 and 1

(C) 7 and 8

(0) 6 and 7

67. What number should come in place
of '?' mark?

25x43+ 5=?

(A) 215

(B) 220

(C) 205

(0) 251

13-PARSK/2-A

65. 25 Pt@ll~ ".q'"B 12% ~ llfUrn'.q ~

~,(l\~~~ ~,'~~?

;.~

(A) 18

(B) 47

(C) 22

(0) 24

I
I
I
I
I
!

!~

(A) 5 ~ 6

(B) 0 ~ 1

(C) 7 ~ 8

(0) 6 ~ 7

25x43+ 5 =?

(A) 215

(B) 220

(C) 205

(0) 251
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68. Manish ranked 16th frQJllthe top and
29th from the bottom among those ~ho
passed the examination. Six students
did not participate in the examination
and five failed. How many students
were there in the class?

(A) 40

(B) 55

(e) 50

(D) 49

69. A's income is 50% more than Ss. How
much percent is Ss income less
than A's?

(A) 33%

(B) 33~%
4

(e) 331.%
3

(0) 331.%
2

70. Which number is on the face opposite
to 6?

(A) 1

(B) 2

(e) 3

(0) 4

13-PARSK/2-A

68. ~ CfiT ~ tRt~ ~ ~ ~ it "YR ~

l00w.n~~ 29cfl"(6T16 fCtQI~ ~~

~ ~ w.n 5 ~ ~I q;~ it ~ ~
~~?

(A) 40

(B) 55

(e) 50

(D) 49

69. A <€t ~. B <€t ~ ~ 50% 3lftIq;~, (I) B

<€t~A~~~~~?

(A) 33%

(B) 33~%
4

(e) 331.%
3

(0) 331.%
2

(A) 1

(B) 2

(e) 3

(0) 4
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SECTION-C / 'lI1T-C

SCIENCE AND SIMPLE ARITHMETIC
1"

71. Select the wrong statement.

I(A) When water is converted into ice
at 0 °C, its volume decreases

(A) ;;fi[ ~ 0 °C l:R «It 'ij qltciRffi iroT t m
~ aw«R 'ij q;Jft 3lRft ~

(8) Glycerol (glycerine) is an alcohol

(C) Glass is not a true solid

(0) Photosynthesis is achemica1
reaction (0) ~-~ ~ JICfiR c#it <I~I4f.1Cfi

~~

72. Amoeba is a
72. ~~

(A) unicellular plant
1(Cfic6)~ICfi ~(A)

(8) unicellular animal
(8) 1(q;c6)~ICfi ~

(C) small insect
(C) ~~

(0) type of small fish
(0) 'I(Cfi JICfiR c#it ulit ~ I

I
73. Which of the following is a conventional

source of energy?

(A) Sun (A) lff

(8) Wind (8) ~

(C) Water (C) ~

(0) Coal (0) ~

13-PARSK/2-A 35 [ P.T.O.

www.questionpaperz.in

www.questionpaperz.in

visit              

Q
U
E
S

T
I
O
N
P
A
P
E
R
Z
.
I
N

q
Q
U
E
S

T
I
O
N
P
A
P
E
R
Z
.
I
N



74. Select the amphibian among the
following.

(A) Snake

(B) Dog

(C) Frog

(D) Earthworm

75. Baking soda is

(A) sodium chloride

(B) sodium hydroxide

(C) sodium carbonate

(D) sodium bicarbonate

76. Brass is an alloy of

(A) copper and aluminium

(B) aluminium and zinc

(C) copper and zinc

(D) copper and tin

13-PARSK/2-A

(A) "ffiq

(B) ~

(C) HGCfi

(D) ~3lT

(C)~~

(D) cn'ftRq fl;f

36

www.questionpaperz.in

www.questionpaperz.in

visit              

Q
U
E
S

T
I
O
N
P
A
P
E
R
Z
.
I
N

q
Q
U
E
S

T
I
O
N
P
A
P
E
R
Z
.
I
N



77. Night blindness OOqJJ$ due to the
deficiency of which of'.the following?

(A) Vitamin ~2

(B) Vitamin E

(C) Vitamin A

(0) Vitamin C

78. Which of the following is not a part of
flower?

(A) Corolla

(B) Calyx

(C) Petiole

(0) Androecium

79. Which of the following is the
non-crystalline form of carbon?

(A) Diamond

(B) Graphite

(C) Coke

(0) Fullerene

80. Which is not a star among the
following?

(A) Sun

(B) Sirius

(C) Polestar

(0) Venus

13-PARSK/2-A

(A) ~~2

(B) furftR E

(C) furftR A

(0) furftR C

(A) ~

(C) ¥

(0) ~

79. f.fkf -ij ~ ~-~ Cfil'GR ~ :-$i&Rcll(j ~
t?
(A) tro

(B) ~

(C) q;)q;

(0) ~

(A) ~

(B) ~

(C) wrnro I(0) ~
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81. If the numerator of a fraction ·is 81. ~ ~ ~ q;{ 3ffi 12% G«9T.~ ~ ~
increased by 12% and its denominator ~ 2%~-mr~, olmq;{~ ~m~
is reduced by 2%, then the fraction 7

becomes ~. The original fraction is tll@fmJt
7

4 (A)
4

(A) - 55

3 (B)
3

(B)
4 4

2 (C) 2(C) -- 33

5 (0)
5

(0)
6 6

82. The number of terms, which are equally 82. 200 (fCJi 3 ~ 4 ~ ~ ~ ~ ~ qG1 c#it
divisible by 3 and 4 up to 200, is ~t
(A) 18

(A) 18
(B) 17

(B) 17
(C) 16

(C) 16
(0) 15

(0) 15

83. Vulgar fraction form of 10· 036 is

(A) 10 2~5
83. lO· 036 q;{~ fmJ~ t

(B) lOiJo
(A) 102~5

(C) 10~
(B) lo1do

(0) 109\\ (C) 102~O

(0) 10
9
\6
984. The value of

( 0·125+0·027 )
O· 5 x O· 5 + 0·09 - O· 15 84. ( 0·125+ 0·027 )q;{ ~ t

O· 5 x O· 5 + 0·09 - O· 15
is

(A) 0·08 (A) 0·08

(B) 0·2 (B) 0·2

(C) 0·8 (C) 0·8

(0) 1 (0) 1
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t

i
85. In Roman system of numbers, M 85. ~ <fit "i\l:R ~ .qMmm ~ i

represents

(A) 500
(A) 500

(B) 1000
(B) 1000

(C) 100
(C) 100

(0) 50
(0) 50

86. The difference of the place values of
86. 278564083.q Gl;il 8 ~ ~ lfR1 .q ~

both of the 8's in 278564083 is i

(A) 4 (A) 4

(B) 799912 (B) 799912

(C) 7999920 (C) 7999920

(0) 799920 (0) 799920

87. In the magic square 87. ~crf

18 11 16

13 A C

B 19 12

18 11 16,

13 A C

B 19 12

the respective values of A, B, C are
.qA, B, C ~ t{Rt Sfilm:

(A) 14, 15, 17

(B) 17, 14, lS

(C) 17, 15, 14

(0) 15, 14, 17

(A) 14, 15, 17

(B) 17, 14, 15

(C) 17, 15, 14

(0) 15, 14, 17

13-PARSK/2-A 39 [ P.T.O.

www.questionpaperz.in

www.questionpaperz.in

visit              

Q
U
E
S

T
I
O
N
P
A
P
E
R
Z
.
I
N

q
Q
U
E
S

T
I
O
N
P
A
P
E
R
Z
.
I
N



88. The least prime number is 88. ~ mtt ~ ti&rT t

(A) 1 (A) 1

(B) 2 (B) 2

(C) 3 (C) 3

(D) 5 (D) 5

89. Arrange the prime factors of 1729 in
ascending order. The difference between
two consecutive prime factors is

89. 1729 t ~ !,!'lH@usl Cfl1 ~ Sfill it
~ I ~ SfitWRf ~~ !,!'lH@usl it 3MR t

(A) 6 (A) 6

(B) 5 (B) 5

(C) 3 (C) 3

(D) 2 (D) 2

90. 15 - (-3){4-7 - 3}+ 3[5+ (-3) x (-6)] is 90. 15 - (-3){4- 7 - 3}+ 3[5+ (-3) x (-6)] GRm

equal to t

(A) 23 (A) 23
15 15

(B)
15

(B)
15-

23 23

(C) 15 (C) 15

(D) 363 363- (D)23 23
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91. The smallest fraction from the fractiqns 91. f.lJOOl~fut(filrnl
6 13 15 19 5 6 13 15 19 5

U' 18' 22' 36'
- U' 18' 22' 36'

-
6 6

is ih)~~f\rn~

(A) 19 19
36

(A) -
36

(B)
5 5- (B)
6 6

(C) 6 6
11

(C)
11

(0)
13 13
18

(0)
18

92. The smallest rational number is 92. ~~~t

(A) 0 0(A)
1 1

(B) 1 (B) 1

(C) -1 (C) -1 I
(O) Not determinable ~ ;rtf c#it \;['f ~ t(0) ~

93. If ~ - ~ is expressed as a decimal,

it will represent a

93. ~ ~ - 1. cti'r~~(*?\ct~ -ij ~ M ~,
4 2

m ~ ~ Cfi«fi t

(A) terminating decimal

(B) non-terminating repeating decimal

(C) non-terminating
decimal

non-repeating

(0) None of the above
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94. The value of (T1
- 8-1)-1 - (3-1 -4-'1)-1

is

(A) 68

(B) 44

(C) 56

(D) 12

95. The least number, which when
multiplied to 5400 gives a perfect cube,
is

(A) 3

(B) 4

(C) 5

(D) 7

1 3
96. (10000)2 + (10000)4 is equal to

(A) 10

(B) 1

1
(C) 10

13-PARSK/2-A

(A) 68

(B) 44

(C) 56

(D) 12

95. C!6~ ~, ~ 5400 ·tfil ~ em 1R

~HCf)t1 ~ ~ ~ ~ >mf irnt t t

(A) 3

(B) 4

(C) 5

(D) 7

1 3
96. (10000)2 + (10000)4 ~ ~

(A) 10

(B) 1

1
(C) 10
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1 I. .•. >~

97. In 3+ 2
x

= 273 + 64 2" ,t'h~ value ofx is

(A) 2

(B) 3

(C) 1

(0) 1
2

98. 2The value of (0· 00243) 5" is

(A) 0'09

(B) 0-9

(C) 0'03

(O) 0-3

99. The sum of 1+ 3+ 5+ .._+ 119 is

(A) 3630

(B) 3540

(C) 3660

(0) 3600

100. 750
2

- 749
2

is equal to

(A) 1499

(B) 1500

(C) 1501

(0) None of the above

13-PARSK/2-A

97. 3 + 2~ ;"'271" + 64 ~ 11x (fiTlfR ~

(A) 2

(B) 3

(e) 1

(0) 1-
2

298. (0· 00243) 5" (fiTlfR ~

(A) 0'09

(B) 0'9

(C) 0'03

(0) 0'3

99. 1+3+5+ ... + 119(fiTmrrt

(A) 3630

(B) 3540

(C) 3660

(0) 3600

100. 750
2

- 749
2

iRTGR~'

(A) 1499

(B) 1500

(C) 1501

(0) ~11~q;)f~

***
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